Céu e nuvens

Gabriel de Souza Alencar

Largo legatissimo J: 67

H | |
g D bh
g hH [V g
| an WA/ J \ U7
g
= © — — —
1 S e
mf ~ —
8
fH 1
g Db
y AT . O O 1
N~ D . &S ——1 = O O ho [ O )
A3V =~ O oS ——1 7 24 (0] O
Q) —T —T ©O © O ©
g Z
16
‘? -
T )Y
g\ h [V | O l © O O
N "D ho e (0] h &> (0] e P4 (0]
\!‘)\/ V7 O [0 V3 [0 O ~ [0
~—— ~—~———
24h
-
g D bH
gL h [V | ! 1
N~ D h O O ho L © ho
ANV L= 4 O O ~ =7 O 1224 >4
Q) ©O g ©O
<7,€fa
32
H 1 .
g Db
g hH [V
| an W) J vy
A3V LU€) (0]
Q) q'l’l() O

* Obs.: Nos compassos 05-08, Violinos I e Il devemsoar menos do que os outros instrumentos



